S RIVAL

POWERSPORTS

m BUMPER KIT INSTALLATION MANUAL
m MONTAGEEINLEITUNG FUR STOBFANGER-KIT

For: BRP LYNX COMMANDER (RADIEN 20”) (2019)
SKI-DOO EXPEDITION (REV GEN4 WIDE 20"") (2019)

2444.7272.1;
444.7272.1

W (D 1h 30 min

WWW.RIVALPOWERSPORTS.RU



%

-«
@)

“ RIVAL

POWERSPORTS

EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIn Kpenex

EN Regular fasteners
DE Originale montageteile
RU WTaTHbIN Kpenex

EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
RU BkpyTuTb Ha HECKONbLKO 060pOoTOB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKONBLKO 060pPOTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [BwxeHune

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU PacnonoxeHue

EN Screw Arrow
DE Drehungsrichtung
RU lMoBopot



“ RIVAL

POWERSPORTS

<

EN Ratchet
DE Ratsche
RU TpewéTtka

2

EN Drill
DE Bohrer
RU dpenb

D=5 mm
D=6 mm

~

EN Hand Riveter
DE Handnietzange
RU Pyy4HoI 3aKNENoYHmK

4.7272.1-1

4.7272.1-3

4.7272.1-4

4.7272.1-1

2 5] 6

& T2 B
NS x4 x2| L=10mm x2
. My M,

L=15mm X2 | M6x25 X2 [ M6x30 x4 [ M6x40 x4 [ M6x50 x2| M6x16 x4

13 14 15 16 17|

U U s =
M6x20 x2 | M6x30 x4 | M6 x18 | @6 x8 | @6 x36




“ RIVAL
POWERSPORTS

o= ==

‘Uv.a e ———
ﬂﬂ%%&




“ RIVAL

POWERSPORTS

4.7272.1-2

EN Side pipes are to be brought
into the holes in sequence.

DE Die Seitenrohre in die Locher
nacheinander hineinstecken.

RU BokoBsbie Tpy6bl 3aBOAUTD
B OTBEPCTUA NoouepénHo.




“ RIVAL

POWERSPORTS

LEFT=RIGHT

®
=
\gl\@@

The side pipe should be located in parallel
to upper edge of the plastic.

DE Das Seitenrohr soll parallel zur Oberseite
des Kunststoffs sein.

RU bokoBas Tpyb6a gomkHa pacnonararbcs
napasuiesibHO BepxHei rpaHu nnacTuka




“ RIVAL
POWERSPORTS

_—




“ RIVAL
POWERSPORTS

16;15)

--=FA
-0 -
LAy S ey }




“ RIVAL
POWERSPORTS

LEFT=RIGHT




“ RIVAL

POWERSPORTS

LEFT=RIGHT




“ RIVAL

POWERSPORTS

4.7272.1-1

= |
=
J

4.7272.1-2

P P 3
11;17
e
Q-
8;17—
/ <
' &
! EN Clamp the bumper edge
(@4 onto the footrest.

DE Die StoBstangenkante auf
| 15;17—Y ‘ o 15;17 das Trittbrett andriicken.
y RU Mpwxatb rpaHb 6amnepa

K nopory.




“ RIVAL
POWERSPORTS




“ RIVAL

POWERSPORTS

2 <]
=) c 0
c ch
() 0 c
R3] S 3
25 ~ X
c

own oS
c - N 2
- O - T
£ [© 7]
[7, 3 =4 Sd
5 C - C
a = ©
@ v 2
s o<
= =S 9
B8% I
208 20
=i

=

w

LEFT=RIGHT




